Factoring 27. 6ry + 8x — 27y — 36

Factor out the greatest common factor.
28. bt — 352+ — 7

L5w+9 29. —62® + 822 — 21z + 28
2. 11-11y 30. 27 4+ 72° + 822 + 56
3. 6w =3 31. 72a2b + 12a* — 30b — 5a
4. 35— 20z Factor the trinomial completely.
5. x — x? 32. 22 +6x+38
6. y* +9° 33. 2+ Ty + 10
7. 225 + 425 34. 22+ 92+ 18
8. 28y — 49y? 35. 22 +4z+4
9. xy — 2%y? 36. 22 4+ 4z — 21

10. @b + a'b 37. y? — 9y — 22

11. 322y32* — 12239323 38. 22 —4dx +4

12. 822yS2* — 12239°2% + 202%y°2 39. a2 —9a — 10

13. 15ab*c® — 27a*bc® + 18a7b1¢? 40. 72 — 27 — 63

14. z(z +2) +5(x + 2) 41. —2? 4+ 52 +6

15. z(x+4) —2(x +4) 42. 2% + 3z — 70

16. y(y —3) — (y — 3) 43. x* + 16z + 48

17. 22(x — 1) 4+ 3(z — 1) 44. —z* + x4 56

18. (x —21) — 3x(z — 21) 45. 2% — 13z + 40

19. 22(y2 + 1) +4(y* + 1) 46. —1 — 2z — 22

20. (1 —x)+ 2*(1 — x) 47. 2% + 4z — 30

21. 9(4 —x) — y*(z — 4) 48. 42 — 322 + 60

Factor by grouping. 49. 4y? — 8y — 12

8 6 __ 2
22. 1228 — 152° — 822 + 10 50. 922 + 18x — 27

3 _ 2 _
23. 102% — 9022 + 62 — 27 51. 28 — 1322 + 30z

2 _ _
24. 3a” — 3ab + 8a — 8b 52, 23 4+ 22 — 2

3 _ 2 _
25. Tx® — 122% + 84x — 144 53. 323 + 1822 4+ 24x

7T _ 4 .3
26. 11y" —88y" —y° +8 54. 4a® + 82% — 12z
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59.
60.
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69.
70.
71.
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73.
74.
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76.
e
78.
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82.

224 — 202 + 4222
S5z — 1023 — 24022
222 + 5 + 3

42% + 4o + 1

32?2 + 4w+ 1

622 —Tz+1

1522 — 11z + 2

2 — by — 3y?

12 — 13y — 492

922 — 182+ 8
20022 + 500z + 300
9y? — 24y + 15

6z — 3% — 1823
16y — 28y + 6y
30 + 25z — bx?
102 — 2622 + 162
43 + 2222 — 122

72— x — 2

Factor completely.

x2—4

83.
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98.
99.
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27 — 322

223 — 2x
32y% — 2y*
42% — 25

9 — 162

85 — 223
24363 — 50ab?

yt — 81
1—at

2yt — 32
rt+102% + 21

Yt + 2% + 1

xt + 1322 + 36

xt —22% + 1

24 =522 +4

xt — 1022 + 9

3+ 322 — 4o — 12
2%+ 5x% — 9z — 45
223 + 2% — 182 — 9
223 — 92% — 8z + 36
—6 — 122 — 622
2>+ 2% —92 -9
4ot + 822 — 12

2% — 2% + 4z — 2
x* —132% + 36

-t +r-1
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Answers:

. 5(z+1)

11(1 —y)

3(2z — 1)

5(7 — 4)

z(1—x)

y*(1+y)

22°(1 + 2x)

Ty(4—Ty)

zy(1 — xy)
a’b(b* + a?)
3229323 (2 — 4x)
4252292 — 3wz + 5)

3(5b% — 9¢2 + 6a°b%)

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44.

45.

46.

47.

48.

49.

50.

ol.

02.

53.

a—10)(a+1)
z —9)(z+7)

—(z—6)(x+1)
(x +10)(z —T7)
(x +4)(x + 12)
—(x—=8)(x+T)

(x —5)(x — 8)



o4.

95.
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o7.

o8.

99.

60.

61.
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80.

dr(x 4+ 3)(z — 1)
22%(x — 7)(x — 3)
52%(z — 8)(z + 6)

x+1)(2x + 3)
1

( (
(2z + 1)
(x+1)(3x +1)
(z—1)(6z—1)
(3x — 1)(bz — 2)
—(y+2)By — 1)
—(y +4)(4y - 3)

(32 —4)(32—2)
100(z + 1)(2z + 3)
33y —5)(y — 1)
—32(3z +2)(2z — 1)
2y(2y — 3)(4y — 1)
—5(z — 6)(z + 1)
22(52 — 8)(x — 1)

20(x +6)(20 — 1)

81.
82.
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84.
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86.
87.
88.
89.
90.
91.
92.
93.
94.
95.
96.
97.
98.
99.

100.
101.
102.
103.
104.
105.
106.
107.

108.

13(z — 1)(z + 1)

3y —2)(y+2)

33=2)(3+2)

2e(x — 1) (z+1)

274 - y)(4 +y)

(2x — 5)(2z + 5)

(3—4y)(3 +4y)

22322 — 1)(22 + 1)

2ab*(a — 5)(a + 5)

(y=3)y+3)(y*+9)

(1—2)(1+z)(1 + 2?)

2(y = 2)(y +2)(y* +4)
(x

24+ T)(2* +3)

T

—_

+
Y2+
24

)
)2
9)(z? + 4)

T

(
(
(
(x —1)*(x +1)2
(z -
(z —
(

(2x +1)(z — 3)(x + 3)
(2x —9)(z — 2)(z + 2)
—6(z + 1)*

(z + 1)(z — 3)(z + 3)



